”5

ORDERING LIST

Accessories

Item no.: Item Quantity
2200 [TurnAid Slide Sheet 105x205 cm
2201 |TurnAid Slide Sheet 95x205 cm, Standard
2202 [TurnAid Slide Sheet 125x205 cm
> 2203 [TurnAid Slide Sheet 95x225 cm
: 2204 |TurnAid Slide Sheet 105x225 cm
2205 [TurnAid Slide Sheet 125x225 cm
2250 [TurnAid Pull Sheet 180x350 cm Cotton-Standard
2251 [TurnAid Pull Sheet 180x400 cm Cotton
- 2252 |TurnAid Pull Sheet 180x350 cm Cotton/Poly
2253 |TurnAid Pull Sheet 180x400 cm Cotton/Poly
o o 2 3000 |TurnAid Foot Control
3001 |TurnAid Hand Control
5050 |TurnAid bed rail bumers 1 set = 2 pcs.
6003 |TurnAid Transport and mounting wagon
6002 |TurnAid Tranport bag small
6001 |TurnAid Transport bag big
| 2019 |TurnAid Transport bags set= 2 big + 1 small




Item no.: Iltem Quantity
4107 |TurnAid Velcro 180 cm 1 pcs |
3049 |TurnAid Jack cable
3053 |TurnAid Jack Cable new 1/11-17
4093 |Spacer Pieces 1 set = 4 pcs. ALU 6,5x5x1 cm
3054 |2-hole mounting plate 10x5x0,8 cm 4 pcs
g 3055 |3-hole mounting plate 12x5x0,8 cm 4 pcs

4101 |[TurnAid Bolts 10x40 mm 8 pcs.
4097 |TurnAid Bolts 10x50 mm 8 pcs.

s 4096 | TurnAid Bolts 10x60 mm 8 pcs.
4100 [TurnAid Bolts 10x70 mm 8 pcs.
4102 |TurnAid Bolts 10x80 mm 8 pcs.

IR | 1050 [TurnAid Gaslift

4051 |TurnAid Fitted bolts




Item no.: ltem Quantity

- 170  |TurnAid Pinol screw 6 mm 4 pcs

4099 |Tranparent plastic tube 4 pcs

4058 |Konusgrib black 4 pcs

4059 |Konusgrib blue 4 pcs

4084 [TurnAid Power cable for control box

3051 |Soket head for powerbox (brass knuckles)

5000 |TurnAid Controle, complete for turning system

4000 |TurnAid Motor for turning system T3




Item no.: ltem Quantity

4104 |TurnAid cable for Foot Control

5001 |TurnAid Controle, complete new 1/11-17

2998  |Spare Part Box

| Spare Part Box contains:

3049 Jack Cable 2 pcs 3054|2-hole mountings plate 4 pcs
4050 Gaslift 2 pcs 4051 |Fitted bolts 8 pcs
4058 Konusgrib black 4 pcs 4059|Konusgrib blue 4 pcs
4093 Spacer 16 pcs 4096|Bolts 10x60 mm 24 pcs
4097 Bolts 10x50 mm 24 pcs 4100]|Bolts 10x70 mm 24 pcs
4102 Bolts 10x80 mm 24 pcs 4104|Cable for Foot Control 1 pcs
4107 Velcro 180 cm 2 pcs 4099| Tranparent plastic tube 12 pcs
170 Pinol screw 6 mm |4 pcs 4062|Ball bolt 4 pcs
4063 Spacer for ball bolt |2 pcs 4064 |Wear 2 pcs
4098 Nylon disc 8 pcs 2999|Spare Part Box 1 pcs

R-18-06-2019



